Efficiency vs P,

0.2
. : : :
L0.18F i RERLEAEERRES RRREEELREED
> E : : :

S 016 i Freneneeeeefd AARERRRLREEE
o : : :

(&)
S0.14
o

0.12
F S B A B—
0.08F e e e S XTI
0.0 -+ sererfeeennnss b R
0.04F ; :
0.02

.................................................

.................................................

fa)
o +W
8
IS : : :
o *------ B O B o o O O O
0.95F------~ SHHH A oA
E 4

107 1 10 prT (Ge\})o3

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

= 0.2
O T N
e S

(&) E . N . . .
L A N R S
Chot : : : :
R S ST ST
o F : : : :
O e R pri pe
O SRR S R SRR B
oo
0.0Bf -+ rbeeeree e popbene e B
0.04F - {Hm‘} e
0.02F -+ ~~F----;--*€~+ ----------
. G*$++ R
I F i i i
x 1:— -------- [ 44- 4 -m:— ML L.
X U 1 R | W 11111 11 s
08— 1 3

Efficiency vs ¢

s 0.
g
20.09E
2
_90.08-—
(8]
£0.07F
[J]

0.06F

0.05F
0.04

. O -
.'.'_i'-.:‘-.!f-.‘-.‘-.'—.!.'..'

Ratio
=
t

|TY35EY

0.9

o
©

w
0
'L
S SR -
-
N
w

TP @



	Contents
	Page 1


